AF-4031

B.Com. (Part - III)
Term End Examination, 2017-18

Paper - II

Management Accounting

Time : Three Hours] [Maximum Marks : 75
de gt Tl F S AW et T F s
peic i
Note : Answer all questions. All questions carry equal
marks.
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1. YT J@ay = § ? Id7H 999 H 39S
Ugcd Wd SEIRArsTl sl &dsu |

What is Management Accounting ? Discuss its

needs and importance in modern age.
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T
IRt ©hY 3,00,000
Af<H @y 4,20,000
ER| 14,00,000
Teigd 3,70,000
A eIl 1,50,000
IR I 84,000
fosra =3 36,000
STTIHRT 1,00,000
T gEatd & f9a Wy 20,000
fasea 24,00,000

From the following informations you are
required to calculate (i) Gross Profit Ratio
(if) Operating Ratio (iii) Net Profit Ratio :

54
Opening Stock 3,00,000
Closing Stock 4,20,000
Purchases 14,00,000
Wages 3,70,000
Carriage Inwards 1,50,000
Administrative Expenses 84,000
Selling Expenses 36,000
Income Tax 1,00,000
Profit on Sale of Fixed Assets 20,000
Sales 24.,00,000

361 BSP (8) (Continued)



(3)

$eT8 / Unit-T1
2. A HEET o vt S W fefafed g

Y Frfvie gSit § gfad 1 foero Tar it

31 9=
T T
T H THhs 20,000 | 18,000
d% H U%hg 60,000 | 90,000
Tiqan 1,10,000 | 60,000
g faa 1,55,000 | 1,92,000
<7 faa 17,000 9,000
IS Y 12,000 | 18,000
qeed = 11,000 | 5,000
IRIYS =g 30,000 | 24,000
AN AR 65,000 | 85,000

Prepare a Statement of change in Working
Capital of Manisha Company Ltd. from the
following informations :

31st March

g g
Cash in Hand 20,000 18,000
Cash at Bank 60,000 90,000
Stock 1,10,000 60,000
Bills Receivable 1,55,000 | 1,92,000
Bills Payable 17,000 9,000
Outstanding Expenses 12,000 18,000
Prepaid Expenses 11,000 5,000
Preliminary Expenses 30,000 24,000
Trade Creditors 65,000 85,000
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Uehe JaTE faaior & Sevg 1 € ? 39 e
I TR |

What are the objectives of Cash flow ? Discuss
their importance.

THhTS / Unit-I1T

3. gt fdo ww axg &1 fuio Rt T o3EH
ety H <1 96l ot FEA F ThR ST

2016 2017
7 7

fawa 1,50,000 1,80,000
TR AT 45,000 60,000
S ECKE NI D 75,000 97,500
9 F=fafEa @ 9| it
(a) <Y HET ST
(b) Tu-fa=sg fog
() e w0

Shubhangi Ltd. manufactures a commodity.
Informations regarding that for the two
successive years are available which are as

follows :
2016 2017
54 54
Sales 1,50,000 1,80,000
Fixed Costs 45,000 60,000
Variable Costs 75,000 97,500
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You are required to ascertain the following :
(a) P/V Ratio
(b) Break-even Point
(c) Margin of Safety

34T/ OR
fofem @ § 7 s9e foRivaiell wd weed @
I HIFT |

What is decision making ? Discuss its
characteristics and importance.

THT / Unit-IV
4. IS @ikt 1 FAAYRON ki ATEAT
HIFSTT |
Explain the concept of responsibility
accounting.
37Y4qr / OR

fr=fafed gaed 9 30 [, 2017 & 99w
M o faAEt & fau Soeer wiH | wifde
ﬁib_e.f ESCAGRIE HIfST

ELSIEED ESE
faaRor |SHeRi|wEdt| o | sda| wE | S5

7 7 7 Tl | =
fosma | 8,000 | 7,000 | 6,000 | 8,500 | 9,000{ 8,000

e 4,000 | 3,000 | 2,500 | 3,000 2,500( 2,000
Tegdt | 2,000 | 2,000 | 1,000 | 1,500 | 1,000 1,000
=9 500 600| 500| s8oo| 00| 400
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sifafia g=mmd

(i) 60% Ha T fa®ha g g # |

(i) TERI 1 AH T WIE oG BIaT & qel
TSRl 9 et 41 HIE W% BT T

(ii)) TG T I WTATgS ST § Ud o
1 A TF HE 96|

(iv) TomEn 200 9fd A7 S = § wiiha
T 7

(v) ™ H T AR I AHIG R T 250
gl

(vi) T3 2017 & %S AT T 1,500 T

Prepare a cash budget for the quarter ending
June 30, 2017 monthwise in a tabular form from
the following informations :

Actual Budgeted
Particulars| Jan. | Feb. [ Mar. | April| May | June
3 3 3 3 3 3

Sales 8,000 | 7,000 | 6,000 | 8,500 | 9,000 |8,000
Purchases | 4,000 | 3,000 | 2,500 | 3,000 | 2,500 (2,000
Wages 2,000 2,000 | 1,000 | 1,500 | 1,000 {1,000
Expenses 500 600| 500 800| 600] 400

Additional informations :
(i) 60% of sales and purchases are for cash.

(if) Suppliers are paid after one month and
credit sales are collected after two months.

(iii) Wages are paid weekly and the expenses
are after one month.
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(iv) Rent ¥ 200 p.m. not included in the

expenses.
(v) Income Tax payable in May is estimated
to be ¥ 250.
(vi) Cash balance on April, 2017 was ¥ 1,500.
THT / Unit-V

5. YUY AT 1 T2 THP O WA Sl
FATST |
What is Standard Costing ? Explain its merits
and demerits.
374l / OR
MefarEa 3Tishsl ¥ UMl HitaT
() G @ra faeRe
(i) | qed foe=rm
(i) A STEE faeR
(v) md Tago fo=ro
(v) T I fa=ro

JHY

T X 60 foho WMo T 6 Tl

fomo Uo T W A 360
T X 40 foho Wo T 4 Tfa

fho WMo & R ¥ 160

520

yaTfua Scareq faf=m &1 80% S fo 80 Shrzal
g1 ufsran =1f7 20% © 1
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AT :

T Y 40 foho WMo 34 Ui

oo Mo T W A 160
T Y 70 foho WMo 36 UM

foho WMo =T W W 420

580
ardfaeh Scared faf=mT =1 70% <1 f& 77
shRdl § 1 ufsran =1 30% @ |

Calculate from the following data :
(/) Material cost variance

(if) Material price variance

(iiif) Material usage variance

(iv) Material mix variance

(v) Material yield variance

Standard :
Material X 60 kg. @ I 6 per kg. 360
Material X 40 kg. @ T 4 per kg. 160

520

Standard output is 80% of input i.e. 80 units.
Process loss is 20%.

Actual :
Material Y 40 kg. @ I 4 per kg. 160
Material Y 70 kg. @ I 6 per kg. 420

580

Actual putput is 70% of input ie. 77 units.
Process loss is 30%
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